AN ROINN OIDEACHAIS
(Department of Education).

BRAINSE AN MHEAN.-OIDEACHATIS
(Secondary Education Branch).

’ { LEAVING CERTIFICATE EXAMINATION, 1932. i

PASS.

|
|
‘[ PHYSICS

(ll WEDNESDAY, §th JUNE.—AprerxooN, 1.30 10 330 rm, -
1

| |
‘ | Not more than siz questions may be attempted. E
't 3
I All question are of equal value.

111

il

1

\| 1. What is the nature of the image formed by a convex mirror s
! as used by a motorist to observe traffic coming from bhehind, and
I'-i what determines its size? Explain with sketch.
|

‘I

9 Deseribe what is meant by the focal length of a lensi
‘ Tlustrate by sketehes how (@) a virtual image, (b) a real image
of an objeet can be formed using a suitable lens, Indicate the ™
1 position of the foeus in each case. ;

Il ;
l 3. A rectangular block of glass of refractive index 15 and twols
hollow rectangular glass troughs B and € of the same size ag A8
‘ and eontaining water refractive index 133 and carbondisulphide s
rofractive index 1-687 respectively are placed side by side,
' ‘ Indicate by means of a diagram the path of a ray of light =
] through A, B, and €, which is incident on A at an angle of ahout:
30° to the normal,

(il 4, What is meant by (a) Foot-Pound, (b) erg!? Assuming
|| 1 foot=30em., 11h.=450grm., and 1 grm. weight=1,000 dyness
|_ find approximately the number of ergs in a foot-pound. |

I

. l 5. Describe, giving precautions, a method for determining the

Wi aceeleration due to gravity. ',
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How can it be shown experimentally that the velocities
ared by a ball in rolling down planes of the same height but
ferent lengths are equal? Explain your method.

Describe with sketeh how you would illustrate in one
puous cirenit that an electrie current (a) produces lines of
petic force round a conductor, (b) causes chemical change
eleetrolyte, (¢) produces heating effect in a conductor,

Deseribe how the ratio between two given resistances may
determined. Two instruments—one an ammeter, the other a
tmeter—have no identifying marks.  How would you find
which is the ammeter! The use of another ammeter or
peter is not permitted.

Three secondary cells in series, an ammeter, a resistance
and a voltmeter ave suitably joined up so as to enable you
bserve the potential difference at the terminals of the cells
the current in the resistance eoil. Sketeh the eirenit. What
erences would you expeet to observe in the readings of the
meter and  voltmeter, respectively, if one of the cells was
med?! Explain your answer.

0. Deseribe two  experiments illustrating electro-magnetic
gtion.  Ntate the elements which eause it in each case.




